
Installation Instructions & Use Recommendations 
 

 
 

© 2022  FMS Solutions, LLC.  All rights reserved.  Not to be reproduced without written permission of FMS Solutions, LLC.                    11/2022 
 

 
 

 

These instructions must be read carefully and thoroughly before beginning work.  FMS Solutions, LLC accepts no liability for 
damage caused by failure to observe the installation instructions or use recommendations.   

 
 

 

Lid Retention Straps are designed to replace the single side cord 
strap to improve the retention of the lid.  They can also be used to 
replace the new hydraulic lid retention system when using the 
Saddlebag Inner Cover Lid Storage. 
 
Note: Saddlebag Inner Cover does not change the load limit per 
police saddlebag of 15 lbs. 

 
 

Remove the three M5 bolts securing the painted lid cover.  This will 
expose the existing cord retainer and provide access to route the 
new retention strap through the rectangular holes in the lid.  If the 
lid had a cord retention system, remove the knotted cord between 
the two rectangular holes. 
 

 

 
 

Remove the outside color panel of the saddlebag.  Remove the 
two screws securing the color panel.  After removing screws, you 
can use your T25 Torx driver to press down through the hole to 
loosen the panel (with your hand underneath to catch the panel).  
This provides access to the side hole where the lid retention 
grommets / bolts will reside. 
 

 

Saddlebag Lid Retention Straps – Police Saddlebag 



 
 

Depending upon the retention system, their normally is a rubber 
plug on the inside face and a retention screw / expanding rubber 
nut or mechanism on the outside face.  In either case, remove the 
existing retention mechanism and replace it with the grommet, 
screw and nut arrangement provided.   
 
Grommet Hardware:   

1. Remove any existing rubber plug or attachment hardware. 
2. The grommet has a thick and thin side.  The thick side goes 

inside the bag.   
3. Spray some Windex or similar to temporarily lubricate the 

grommet to install it.   
4. After routing the strap up through the lid and back down, 

arrange so it is not twisted.  Insert the M5 x 16 bolt through 
the strap end and through the grommet.   

5. Install the M5 nut / washer to the outside, using your M8 
wrench and T25 Torx to tighten snuggly (bolt through nylon 
lock of nut). 

 
Rubber Well Nut Hardware: 

1. Remove any existing rubber plug or attachment hardware. 
2. After routing the strap up through the lid and back down, 

arrange so it is not twisted.   
3. Screw the eyelet to the rubber well nut, insert it into the 

vacant hole, tighten snuggly.  The well nut will balloon to 
secure the strap.  Don’t over-tighten!  The bolt should be 
just coming out of the threaded insert when tight. 

 
Reassemble painted covers in reverse order as removed. 

 

 

 
 

 

 

 

 
 
 
 
FMS Solutions, LLC Limited Warranty 
FMS Solutions, LLC warrants to the first retail purchaser of new FMS Accessory products, to be free from defects in materials or 
workmanship, for a period of three (3) years from the original date of purchase as noted on the FMS Solutions, LLC invoice or 
original dealer invoice, except for paint and powder-coated finishes, which are warranted for the first 12 months only.  LED lights 
from Feniex, Inc., Code 3, Inc. and Littlite are covered for 5 years by their manufacturer’s respective warranties – processed 
through FMS Solutions, LLC. 
 
This warranty extends only to the FMS accessory and does not include: damage caused by accidents or abuse; incorrect 
installation; labor to diagnose, remove, repair or replace; any consequential damage or loss of use.  Any FMS Accessory 
suspected of being defective should be returned to FMS Solutions, LLC along with a copy of proof of purchase and warranty 
request form available on the FMS website.  FMS Solutions, LLC will determine if the FMS accessory has a warrantable defect, 
and if so, will repair or replace the item and return it to the sender without charge.  The decision to repair or replace said item is 
solely the prerogative of FMS Solutions, LLC. 
 
Note:  Police motors can operate in a very rough environment since police motors are a “tool”.  They can be dropped, knocked-
over, etc. without concern as the officer has a job to do and determines what is necessary at any given moment.  Warranty is for 
defects in materials or workmanship.  Therefore, the ability of an item to become broken or damaged does not mean it is warranty 
… it just means it is broken or damaged and in need of repair or replacement.  No manufacturer warrants their products to be 
indestructible.  Any questions should be directed to info@fmsaccessories.com .   

  

 

mailto:info@fmsaccessories.com

